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Mark answer (2) if the inference is ‘probably true’ though
not ‘definitely true’ in the light of the facts given.

Mark answer (3) if the ‘data are inadequate’ je, from the
facts given you cannot say whether the inference is likely
to be true or false.

Mark answer (4) if the inference is ‘probably false’,
though not ‘definitely false’ in the light of the facts given.
Mark answer (5) if the inference is ‘definitely false’, ie, it
cannot possibly be drawn from the facts given or it
contradicts the given facts.

66. The coal mines of the developed countries generate more
profits than those in India.

67. India’s coal mines and mining activities are commercially
viable.

68. India’s dependence on coal for generating energy will
continue in the time to come.

69. India’s coal reserves are much more than its requirement.

70. Assessment process of coal reserves is not capable of
identifying coal reserves accurately.

§ Directions (Q. 71-75) In each question below is given a

. statement followed by two courses of action numbered 1
and 1. A course of action is a step or administrative

. decision to be taken for improvement, follow up or farther
action in regard to the problem, policy etc. On the basis of
the information given in the statement, you have to
assume everything in the statement to be true, then decide

" which of the suggested courses of action logically follow(s]

§ for pursuing.

Give answer (1) if only Course of action I follpws

Give answer (2) if only Courde of aﬁa}mfu

Give answer (3) if either Course of action I or Course of

action I follows

Give answer (4) if neither Course of action I nor Course of

action II follows

Give answer (5) if both Courses of action I and II follow

71. Statement Many customers complained to the manager
of the local branch of the bank against the
highhandedness of the bank employees while
dealing with the customers.

Courses of action
1. The bank management should immediately suspend
all the employees of the branch and deploy a different
set of employees.
II. The bank management should ask for a report from the
manager of the branch for taking necessary steps.

72. Statement Two persons while on their daily walks in the
jogger's park were killed by unidentified
miscreants early in the morning.

Courses of action
I. The police authority should deploy police constables
near the jogger’s park to prevent such criminal acts in
future.
1I. The citizens of the locality should go for early morning
walks in groups to avoid such attacks.

73. Statement Many school children died in few accidents
caused due to poor maintenance of school
buses during the last few months.

74.

75.

wenobserven

76.

77.

Courses of action
I. The government should set up an expert group to
inspect the condition of school buses to avoid such
accidents.
1. The government should suspend the licence of all the
school buses till these buses are properly checked.

Statement A very large number of recently recruited
officers left the Bank after attending the
training programme on branch Banking
operations conducted by the bank.

Courses of action

1. The bank should take a bond of at least two years from
each newly recruited officers before putting them into
the training programme.

II. The bank should conduct the training prograrmme at

least one year after the newly recruited officers joined
the bank.

Statement A huge oil tanker overturned on the highway
leading to the state capital and blocked most
part of the highway from vehicular traffic.

Courses of action

L. The govt. should immediately constitute a high level
enquiry committee to look into the matter.

II. The driver of the oil tanker should immediately be

arrested.

Directions (Q. 76-80) In each question below is given a
statement followed by two assumptions numbered I and

; éﬁﬁﬁé ,ﬂf%m tion is something supposed or taken for
: d.
i

dbe to consider the statement and the

| following assumptions and decide which of the
assumptions is implicit in the statement.

Give answer (1) if only Assumption 1 is implicit.
Give answer (2) if only Assumption II is implicit.
Give answer (3) if either Assumption I or Assumption Il is
implicit.
Give answer (4) if neither Assumption I nor AssumptionII
is implicit.
Give answer (5) if both Assumptions I and II are implicit.

Statement  The civic body put up a huge notice board
on the beach located at an isolated part of
the city as “Many picknickers died while
swimming in the sea during the past few
months”,
Assumptions 1. Picknickers may ignore the notice and
continue venturing into the sea.
II. Picknickers may read and be careful

while venturing into the sea.

The govt. has recently advised all the public
sector banks to reduce rate of interest on
home loans up ¥ 25 lakhs.

Assumptions 1. The public sector banks may reduce the
interest on all home loans upto T 25
lakhs.

1. People may take undue advantage of the
govt's decision.

Statement
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78.

79.

80.

81.

82,

Statement  The local hospital put up a notice board at
the main entrance stating that the hospital
will carry out free check up for detecting
cancer for the people stying in the locality.
Assumptions I. Large number of people living in the
locality may avail the free check up
facility offered by the hospital.
I1. Hospital staff deployed for the purpose
may be able to cope up with the rush of
people for check up.

The government has decided to distribute 3

kgs. of food-grains to every family living

below poverty line for the next three months

at a nominal price of ¥ 5 per kg.

Assumptions 1. The govt, has enough stock to distribute
foodgrains for the entire period.

II. Families living below poverty line
may be able to afford to buy
foodgrains at ¥ 5 per kg.

The cricketing body decided to hold the
final match of the tournament in the biggest
stadium of the country which can
accommodate above one lakh spectators.
Assumptions I. Most of the tickets may be sold resulting
into huge income for the cricketing body.
IIl. Most of the spectators may prefer to
watch the match on TV at their homes

Statement

Statement

rather than goin 1o'he Bt 1ohobsenver . cc:%f DT %

. Directions (Q. 81-85) Below in each question are given
é two statements (A) and (B). These statements may be
. either independent causes or may be effects of
independent causes or a common cause. One of these
statements may be the effect of the other statement. Read
both the statements and decide which of the following
answer choice correctly depicts the relationship between
these two statements.

T I

Mark answer (1) if statement (A) is the cause and
statement (B) is its effect.

Mark answer (2) if statement (B) is the cause and
statement (A) is its effect,

Mark answer (3) if both the statements (A) and (B) are
independent causes.

Mark answer (4) if both the statements (A) and (B) are
effects of independent causes.

Mark answer (5) if both the statements (A) and (B) are
effects of some common cause.

(A) Three top players of the Indian cricket missed all the
matches of the five match tournament due to injury,

(B) India lost the cricket tournament to the visitors with a
2 : 3 margin.

(A) The prices of foodgrains have increased by about 20
per cent over the same period last year.

(B) The prices of vegetables have substantially decreased
during the past few weeks,

83.

84,

85.

86.

87.

88.

(A) A huge explosion rocked the housing complex as a
cooking gas cylinder exploded in one of the flats in the
complex.

(B) Residents of the housing complex came running out
of their houses and assembled in the open courtyard.

(A) Majority of the students of the school passed in
Mathematics in the annual examination.

(B) Majority of the students of the school failed in English
in the annual examination.

(A) The municipal authority advised all the schools in the
city to close down for the next two days.

(B) A huge storm is likely to hit the city during the next
two days,

Directions (Q. 86-100) In each of the questions given

below which one of the five answer figures on the right
§ should come after the problem figures on the left, if the

sequence were continued ?

(1) (2) (3) (4) (5)
Problem Figures
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Answer Figures
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89. Problem Figures Answer Figures
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90. Problem Figures Answer Figures
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92. Problem Figures. Answer Figures
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98. Problem Figures

Answer Figures
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99. Problem F
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Answer Figures
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